What is Function Notation? Given  f(x) = 3x + 1

® Another way to write Y= 1. Find f(-2) 3C ) S
_ Fi 2) =3(1r) 4+l =Ll =~

Instead of writing ~ y = x2 + 1
. -3

Function Notation writes it as: f(x) = x* + 1
2. Find x when f(x)=§_ﬂ

e Howdoyousay "f(x)'? " £ of %"
® fis the function name L =N 5 S| L
i ( - e
® x is the independent variable (domain) 33 SN /
]
SRRkl (RelanensiEndi EHnelians Which of the following is correct?
Relation Function
A set of ordered pairs A kind of relation 1. Every Relation is a Function
where each x is paired
(a bunch of points) with one and only one : - -
y. 2. Every Function is a Relation

Each input produces This is similar to saying that All Squares are Rectangles!

only one output



Is each a function:

What is the Vertical Line Test?

Atest to see if a graph represents a function
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—
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: If any vertical line intersects a graph more than once
: the graph is NOT a function.
Nes

No vertical line will touch
this graph more than once.

Tell if each of the following is a Function or Not a Function.

c)
d)

) (mﬂ)
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There is at least one vertical line
that touches the graph more
than once.

Nes

No vertical line touches
the graph more than once.

~NO VQS
A vertical line can touch . .
the graph more than once. No vertical line touches the graph more

" than once.
d.

* Avertical line will touch the graph infinitely many times

NO

2. Tell if each of the following is a Function or Not a Function.
a) (H3).G/-9E)NCER3)

\J :
) e All x values are different

6),(8,4)

b) (33-2),(11,-1),

/UO The x value -5 is repeated. This means the input of -5
is paired with two different output values.



Mapping Diagram  (5,1), (-2, 7), (2,-3), (8, -1), (2, 4), (-6, 8)
1. List the Domain and Range

2. Connect each member of the Domain with its corresponding value in
the Range.

Domain: Range:
= — S Is this Relation a function? NO
the Domain
- ( If any domain value ivsaLu;rizzwnh
Z ) has more tha_n one line two different
coming from it then the Range Values
S kf relation is NOT a function

These are called Discrete Graphs.

Discrete Quantity
a quantity that
can be counted

The domain and range can just be listed using
all the values of x and y.

v b.'2

# Y
”

Domain: {-5,-4,-3,-1,1,3} Domain: {-4,-3,-2,-1,0,1,2}

Range: {-3,-1,0,1,2,3} Range: {-4,-2,0,2}

Domain: Range: .
e x-coordinates e y-coordinates
e Input e Output _
e Independent Variable * Dependent Variable

These are called Continuous Graphs.
The domain and range can't be listed using all the . .
values of x and y because there are an infinite # of ContanOUS Quantlty
points. You must use INEQUALITIES Quantity that

8 ' can't be
counted, it has
to be measured.

4

Domain: X = -3
Range: j <3

Domain: —| £.X< 3
Range: ¢ Yy< H



Given the function g(x) =3x?-5

Find the Range for this given domain: x=-2,1,2,5

(-2)= 3%~ —5_ Range is the
3! == — output:
27 =10
6(671 B =g & E
=
() = 33y
j l?*s\szj
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Problems 12, 13, 17, 18, 37-39, 46, 50, 51



